655 EISENHOWER DRIVE
OWATONNA, MN 55060 USA Form No. 562922
PHONE: (507) 455-7000 )

® TECH. SERV.: (800) 533-6127 Parts List &

FAX: (800) 955-8329 Operating Instructions
ORDER ENTRY: (800) 533-6127 for-
FAX: (800) 283-8665 or: 5713

INTERNATIONAL SALES: (507) 455-7223
FAX: (507) 455-7063

Original Instructions

Tire Bead Seater

Application: Seats tubeless tires in a wide range of sizes.
For example, small ATVs, passenger cars and trucks, heavy-duty vehicles, and agricultural machinery.

Description:

This equipment uses compressed
air to lift and seal the tire bead to
the wheel rim.

Explanation of Safety Signal Words

The safety signal word designates the degree or level of hazard seriousness.

A DANGER: Indicates an imminently hazardous situation which, if not avoided, will result in death or
serious injury.

A WARNING: Indicates a potentially hazardous situation which, if not avoided, could result in death or
serious injury.

A CAUTION: Indicates a potentially hazardous situation which, if not avoided, may result in minor or
moderate injury.

CAUTION: Used without the safety alert symbol indicates a potentially hazardous situation which, if not

avoided, may result in proDerty damage' © Bosch Automotive Service Solutions LLC

Sheet No. 10f3

Issue Date: Rev.C March 8, 2013




Parts List & Operating Instructions Form No. 562922, Sheet 1 of 3, Back

Safety Precautions

A CAUTION: To prevent personal injury and/ or property damage,

\
\é,‘
I'

€

Study, understand, and follow all safety precautions and operating instructions before using
the Tire Bead Seating Tool. If the operator cannot read instructions, operating instructions
and safety precautions must be read and discussed in the operator’s native language.

Only qualified operators may install, operate, adjust, maintain, clean, repair, inspect, or
transport this tool.

Inspect the condition of the tool before each use; do not use if damaged, altered, or in poor
condition.

Wear ear and eye protection that meet ANSI and OSHA standards.

Do not exceed the maximum air pressure rating of 150 psi. Overfilling the air tank may
result in an explosion. Recommended operating air pressure is 90 psi to 140 psi.

Do not point the air nozzle at a person.

Hold the nozzle securely against the wheel rim with both hands during the burst of air.
Discharge the air tank when it is not in use.

Do not tighten or loosen fittings when the tank is charged.

Drain the tank periodically, but never remove the drain plug when the tank is charged.
Do not use this tool for anything other than its intended purpose.

Do not inflate damaged tires or tires on damaged rims.

No alteration shall be made to this product.

Use only those repair parts called out in the parts list in this document. Iltems found in the
parts list have been carefully tested and selected by OTC.



Parts List & Operating Instructions Form No. 562922

Assembly Instructions

Nozzle Mount Handle Rod
Assembly ) and
™~ Ball Grip —
Hose Air Valve
i v
Handle
Assembly Pipe

Air Nipple 90° Elbow

(user supplied)

Hitch Pin

Item numbers refer to the parts list.
CAUTION: To prevent equipment damage, do not overtighten the threaded connections.

1. Attach the nozzle mount assembly (Item No. 16) to the air tank using two hex hd. cap screws and two hex
nuts (Nos. 21 & 28).

2. Apply thread tape to the threads on the 90° elbow (8) and install it into the air tank as shown.

3. Apply thread tape to the threads on both ends of the hose (20) and thread the end that does not swivel
into the 90° elbow.

4. Thread the air valve assembly (15) into the swivel end of the hose.

o

Apply thread tape to the threads on both ends of the pipe nipple (18) and thread one end into the air valve
assembly.

Thread the nozzle (17) onto the pipe nipple.

Thread the handle rod (19) into the nozzle, and the ball grip (27) onto the end of the rod.
Attach the handle (7) to the top bracket using two hitch pins (31).

Connect an air nipple (not supplied) to the air fitting.

© © N o

© Bosch Automotive Service Solutions LLC

Sheet No. 20of 3

Issue Date: Rev.C March 8, 2013




Parts List & Operating Instructions Form No. 562922, Sheet 2 of 3 Back

Operating Instructions

1. Position the tire with the narrow bead on top and the tire valve facing up, if possible. It may be necessary
to supply air through the valve while seating the bead.

2. Connect shop air to the air fitting on the Tire Bead Seater. The air supply must be clean, dry, oil-free, and
regulated.

3. Open the air valve until the gauge on the air tank reads a minimum of 100 psi. Air pressure must be between
90 psi and 140 psi. Close the air valve.

4. Disconnect shop air from the air tank and connect it to the tire
valve.

Tire Rim

5. Apply tire lubricant around the rim and tire bead.

6. Place the nozzle on the wheel, opposite the tire valve, catching
the rim with the two locating bosses on the bottom of the
nozzle. See Figure 1.

7. Use the ball grip to hold the nozzle on the rim, with the rear of
the nozzle tilted at a slight upward angle. The nozzle should
not touch the tire sidewall during inflation.

Figure 2. Fully open and release the air valve to apply a quick 7, Q

8. Place your other hand on the air valve assembly as shown in

blast of air to seat the tire bead. Hook
9. Completely seat the tire by applying air through the tire valve. IOC::"&?ebg:]ses
Note: If the valve core was removed, reinstall the valve core Figure 1
and finish inflating the tire to the manufacturer's recommended
operating procedure.
Optional

Hands-Free Air Chuck
OTC Part No. 5745

Hold nozzle on rim
with rear of nozzle
tilted at a slight
upward angle. Apply a
quick blast of air.

Tire Wedge
(not included)

Figure 2



Parts List & Operating Instructions

Form No. 562922

Replacement Parts List

7\@

12

%

\\10

[ ,/21"’,28

14

16

26

Item ltem

No. Qty. Description No. Qty. Description
5 1 AirTank (part no. 560732) 563987 Air Inlet Kit
8 1 90°Elbow (partno.560749) 9 1 Nipple —.250 NPT

15 1 Air Valve Assembly (part no. 562999) 10 3-Way Air Fitting

20 1 Hose (part no. 560750) 11 Reducer
1 3  Rubber Foot (part no. 560733) 12 Pressure Gauge — 200 psi

563984 Handle Kit

31
6
7

2
1
1

Cotterless Hitch Pin
Handle Grip
Handle

563985 Wheel Kit

3
4
2

2
2
2

Wheel
Shoulder Bolt
Hex Flange Nut — M12 x 1.75

563986 Hardware Kit

22

23
24
25
26
14
32
30

3

_ A AW W

Hex Head Cap Screw —
3/8-16 UNC x 1 in.

Plain Washer — for 3/8 in. bolt

Lockwasher — for 3/8 in. bolt

Hex Nut — 3/8-16 UNC

Hex Pipe Plug

Ball Valve

Warning Decal

Reducer

13 Relief Valve — 150 psi

1
1
1
1
563988 Nozzle Kit
17 1 Nozzle
18 1 Pipe Nipple
19 1 Threaded Handle Rod
27 1 Ball Grip

563989 Nozzle Mount Kit

21 2 Hex Nut — 1/4-20 UNC

28 2 Pan Hd. Machine Screw —
1/4-20 x .75 in

16 1 Nozzle Mount Assembly

Replacement Parts List continued on next page.

© Bosch Automotive Service Solutions LLC

Sheet No. 30of3

Issue Date: Rev.C March 8, 2013




Parts List & Operating Instructions Form No. 562922, Sheet 3 of 3 Back

Replacement Parts List contd.

36
34 Item
No. Qty. Description
39 564161 Air Valve Repair Kit
33 1 Pump Rod
34 1 Compression Spring
37 35 1 Pump Rod O-ring
36 1 Cap O-ring
38 o ) ) 37 1 Seat O-ring
; 38 1 Seat
39 1 Cap

33 —7

35

Inspection and Maintenance
CAUTION: To prevent personal injury,
® Only qualified personnel shall perform inspections and repairs to the Tire Bead Seater.

® |nspectthe condition of the tool before each use; do not use if damaged, altered, orin poor condition.
If damage is found, discontinue use.

® Use only those repair parts called out in the parts list in this document. Items found in the parts
list have been carefully tested and selected by OTC.

Inspection
Before each use, an approved inspector must inspect the condition of the tool; do not use if damaged,
altered, or in poor condition. Check the air tank and fitting for cracks. If damage is found, discontinue use.

Maintenance
Store the Tire Bead Seater in the vertical position with the drain plug removed. Never remove the drain
plug when the tank is charged. Never store or transport a charged tank.

Repair
When repairing the Tire Bead Seater, use only those repair parts called out in the parts list in this
document. Items found in the parts list have been carefully tested and selected by OTC.

Disposal
At the end of the useful life of the Tire Bead Seater, dispose of the components according to all state,
federal, and local regulations.



